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63.3% cens
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51.3% cens

runc = 0.889
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7.43% cens
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79% cens
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65.1% cens
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51.8% cens

runc = 0.945
r = 0.891

37.6% cens
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r = 0.958

13.5% cens

runc = 0.984
r = 0.973

7.23% cens

runc = 0.783
r = 0.674

78.8% cens

runc = 0.889
r = 0.783

65.4% cens

runc = 0.926
r = 0.848

52.2% cens

runc = 0.951
r = 0.893

36.7% cens

runc = 0.977
r = 0.959

13.7% cens

runc = 0.985
r = 0.975

7.58% cens

runc = 0.799
r = 0.689

78.8% cens

runc = 0.891
r = 0.786

65% cens

runc = 0.925
r = 0.844

52.2% cens

runc = 0.95
r = 0.891

37.1% cens

runc = 0.978
r = 0.957

13.3% cens

runc = 0.985
r = 0.975

7.37% cens
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